Fowler’s Radioactive rock problem
Today, Dr. Fowler brought in his radioactive rock to show you!  You examine it and decide to measure its age by determining how much radioactive Uranium there is in it and compare it to non radioactive Uranium.  After analysis you determine 75% of the rock is now composed of non radioactive uranium and 25% is still radioactive.  How old is the rock?

Assume when the rock was formed all of the Uranium in it was radioactive and you know that Uranium has a half life of 50 million years.
Hint 1:  How much of the rock is radioactive after 50 million years?

Hint 2:  A certain amount of radioactivity doesn’t disappear in the time of a half life.  Instead a half life is the time taken for half or whatever radioactivity is there to disappear. 
